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 BBCS-185  

B.Sc. (HONOURS) IN BIOCHEMISTRY  

(BSCBCH) 

Term-End Examination 

December, 2022 

 

BBCS-185 : BIOINFORMATICS 

Time : 2 hours Maximum Marks : 50 

Note :  Attempt any five questions. All questions carry 

equal marks. 

 

1. (a) Match the following : 51=5 

   A    B 

(i) Output (a) Resource of 

protein sequence 

(ii) Microarray (b) Small molecule 

database 

(iii) ZINC (c) Monitor 

(iv) UniProt (d) Microscopic DNA 

(v) SPDBV (e) Visualisation tool 
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(b) Fill in the blanks : 51=5 

(i) A computer that holds immense 

processing power is known as ______ . 

(ii) ________ is the detailed sequential 

study of all the Proteins and 

Proteomes. 

(iii) Python is a ________ language. 

(iv) PDB stands for __________ . 

(v) A unit that is made up of 1000 DNA 

nucleotides  is __________ . 

2. Describe any two of the following : 25=10 

(a) Scope of bioinformatics 

(b) Nucleotide Databases 

(c) Sequence alignment 

3. Differentiate between the following : 25=10 

(a) Sequence Similarity and Sequence Homology 

(b) Local and Global Alignment 

4. Write short notes on any two of the following : 25=10 

(a) Types of BLAST 

(b) Microsoft PowerPoint 

(c) Search Engines 



BBCS-185 3   P.T.O. 

5. (a) Define ‘Bioinformatics’. List any four online 

bioinformatics resources. 5 

(b) Define the term biological databases. 

Explain secondary databases. 5 

6. Expand the following acronyms : 101=10 

(a) WWW 

(b) LAN 

(c) CATH 

(d) NCBI 

(e) cDNA 

(f) CADD 

(g) CPU 

(h) RAM 

(i) SIB 

(j) BLOSUM 

7. Explain any four of the following with suitable 

examples : 42
2

1
=10 

(a) Genomics 

(b) Computer Storage 

(c) Web Browser 

(d) Email 

(e) WAN 
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 ~r.~r.gr.Eg.-185  

O¡d-agm`Z _| {dkmZ ñZmVH$ (Am°Zg©)  
(~r.Eg.gr.~r.gr.EM.) 

gÌm§V narjm 

{Xgå~a, 2022 

 

~r.~r.gr.Eg.-185 : ~m`moBÝ\$m°_©o{Q>Šg 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

ZmoQ> :  {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OE & g^r àíZm| Ho$ A§H$ g_mZ 

h¡ & 
 

1. (H$) {ZåZ{b{IV H$m {_bmZ H$s{OE : 51=5 

    H$    I 

(i) AmCQ>nwQ> (a) àmoQ>rZ AZwH«$_ H$m 
g§gmYZ  

(ii) _mBH«$moAao 
(Microarray) 

(b) bKw AmpÊdH$ S>mQ>m~og 

(iii) ZINC (OoS>. 
AmB©.EZ.gr.) 

(c) _m°ZrQ>a (Monitor) 

(iv) `yZràm°Q> (d) _mBH«$moñH$mo{nH$  S>r.EZ.E. 
(DNA) 

(v) SPDBV 

(Eg.nr.S>r.~r.dr.) 
(e) Ñí`rH$aU/{dµOwAbmBµOoeZ 

CnH$aU 
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(I) [aº$ ñWmZm| H$s ny{V© H$s{OE : 51=5 
(i) {Og H$åß`yQ>a _| AË`{YH$ 

àg§ñH$aU/àmogoqgJ j_Vm hmoVr h¡ Cgo 
___________ H$hVo h¢ & 

(ii) ___________ àmoQ>rZm| Am¡a àmoQ>rAmo_m| H$m 
ì`mnH$ ñVa na H«${_H$ AÜ``Z h¡ & 

(iii) nmBWm°Z (Python) EH$ ___________ ^mfm 
(language) h¡ & 

(iv) PDB H$m AW© ___________ h¡ & 

(v) _____________ EH$ 1000 S>r.EZ.E. 
Ý`ypŠbAmoQ>mBS> go ~Zr _mnZ BH$mB© h¡ & 

2. {ZåZ{b{IV _| go {H$Ýht Xmo  H$m dU©Z H$s{OE : 25=10 

(H$) ~m`moBÝ\$m°_}{Q>Šg H$m ñH$mon (H$m`©joÌ) 

(I) Ý`ypŠbAmoQ>mBS> S>mQ>m~og 

(J) AZwH«$_ 
.
gaoIU  (grŠdoÝg EbmBZ_oÝQ>) 

3. {ZåZ{b{IV _| A§Va ñnï> H$s{OE : 25=10 

(H$) AZwH«$_ g_mZVm (Similarity) Am¡a AZwH«$_ 
g_OmVVm (Homology) 

(I) bmoH$b Am¡a ½bmo~b EbmBZ_|Q>/
.
gaoIU  

4. {ZåZ{b{IV _| go {H$Ýht Xmo na g§{já {Q>ßn{U`m±  

{b{IE : 25=10 

(H$) BLAST Ho$ àH$ma 

(I) _mBH«$mogm°âQ> nmdanm°B§Q> 

(J) ImoO B§OZ (Search Engines) 
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5. (H$) ‘~m`moBÝ\$m°_}{Q>Šg’ H$mo n[a^m{fV H$s{OE & {H$Ýht 
Mma Am°ZbmBZ ~m`moBÝ\$m°_©o{Q>Šg g§gmYZm| H$s gyMr 
~ZmBE & 5 

(I) O¡{dH$ S>mQ>m~og eãX H$mo n[a^m{fV H$s{OE & 
{ÛVr`H$ S>mQ>m~og H$s ì`m»`m H$s{OE & 5 

6. {ZåZ{b{IV n[adUu eãXm| H$m {dñVma H$s{OE : 101=10 

(H$)  WWW 

(I) LAN 

(J) CATH 

(K) NCBI 

(L>) cDNA 

(M) CADD 

(N>) CPU 

(O) RAM 

(P) SIB 

(Äm) BLOSUM 

7. {ZåZ{b{IV _§o go {H$Ýht Mma H$s Cn`wº$ CXmhaUm| g{hV 
ì`m»`m  H$s{OE : 42

2

1
=10 

(H$) OrZmo{_Šg (Genomics) 

(I) H$åß`yQ>a ^§S>maU (Computer Storage) 

(J) do~ ~«mCµOa (Web Browser) 

(K) Email 

(L>) WAN 


